1
8, Pind the value of (1) [(2 - x)sdx,
o

9.

5.

A thin-walled veasel, 3 inches high, is such that its cros
above the bottom of the vessel 18 a circle of radius (1 +
vessel take to fill when water is pourad into it at the r
At what rate is the level of the water rising when the de
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MATHEMATICS — ALGEBRA - HONCURS.

VWEDNESDAY, 12th JUNE — Xorning, 10 to 12.30.

Not more than seven questions nay bo anonwered.
Yathematical Tables may be obtiained frem the Superintendent,

Solve the following simultaneous eguations:

(z + y)=z + z) =30, (y+ z)(y + z) = 35, (z + )z ¢+ I.') w 2,

N

(5% marko,)

(1) Pactorice z? + Ixy — Ly? — 5z — 10y + 6.
(11) Pind the real rosts of the equatien =4 — 8x% + 1627 —- (Lx + 64 = 0O,
(_'-f'n m-u'lcn.)
(1) Prove the bincmial theorem in the case of a pesitive intersral exponent, !
(11) Use o binominl expension to find, correct to five simmificant Cigrea, the value of (3007
4 marlki,)
(1) Show that c" = ch™? 4 20:': + G’:""; , ®here C" denotea the number of corblnatlonn of' n
r — s ]
thinza taken r at a time.
(i1) In how many ways can a committee of five be chosen from four teachera and nix ntudentn
if at least two teachers are to be cn the comnittiee®
(7 u!-nr‘ltn.)
fum to n terms each of the following sorics:
(1) 1.3 3,5+ 5.7+ ceaeae
1 1 1
(11) — t = 1 —=+ [ .u4.
1.3 3.5 5.7 (4G mnrkn, )
d (u L7 1402
Prove from first principles (1) that $o\T/) = v lr—uUr , where 1o nnd »ogre funcollons
e
of x, (i1) that %(tnn x) = secz. x

Differentiate with respect to = (1) N1+ =2, (11) N1+ =2 .

infinite branches.

0
Interpret geometrically your answer to (ii1).

(36 markn,)

2
s o
Trace the curve y= Lx L

s gy paying specinl attentien to maximum and minimum polnts and Lo

(36 markn,)

3

=
(%1) [otan’oao, (111) [\'l; - xtix

(36 markn,)

s—sectlon at n heipght of x inchen
z) inches, How long will the

ate of 10 cubic inchen per second 7
pth of the water is 2 incheo ?

(36 markn,)



